mathrm a'N

rm d lambda

H
(o))
o

mathrm d
H
o
o

Ratio to CMS

P, Lnath
N
o

mathrm d N / mathrm d pT

H
(00]
o

=
N
o

(o))
o

IIII|III|III|IIIJI‘II|III|III|III|III|II

o~ | I I [ I
e
b
3
b

(®))
o

N
o

N
o

p)

N

0.5

S

x13900 GeV pp
] : | : | :

m CMS
--3-- Herwig 7.0.0 default
—A— Pythia 6.428 370
—— Pythia 8.308 default
----- ¢ Sherpa 1.3.0 default

,..........................

Groomed Wid’[h)\_l1 (CMS jet substructure)

Jlet

55

groomed width

Rivet 3.1.10, = 500k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


